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9 (a)  f
fx

Σ
Σ                                                               (= 30

72 ) M1 1.1a 
attempted. May be implied by working 
seen or eg > 2 terms in numerator correct 
Dep ÷  Σf  (NOT = 7) 

Allow end points or incorrect 
midpoints     

   = 2.4 A1 1.1   
    [2]    



                                                                                                               
 

9 (b)  1 B1 1.2 Ignore method except 0, 0, 1, 1, 7, 9, 12 
or 7, 12, 9, 1, 0, 1, 0                              B0 

 

    [1]    

9 (c)  The median is less influenced than the mean by the 
one student in the 21 - 30 class 

B1 
 3.4 or equivalent statement. Must clearly refer 

to the actual outlier in 21 - 30 class 
Not "It's the same as the 
mode".     Ignore "skew". 

    [1]    
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